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Directions (Question Nos, 1 — 5) : In the
following questions, out of the four aliernatives
choose the one which con be substituted for the
given words/sentenice:

1.  Omneindifferent to art and lRerature iz

{A) philistine
(B) aromantic
(C) scholar
(D) eritic

2, A narrow picce of land connecting two
large masses of land
(A) gulf
(B) peninsular
(C) continent
(DY isthmus'

3.  Open to injury or criticism
(A) sensitive
(B) invincible
(C) wvulnerable
(D) naive

4. Government by & small group of all
powerful persans

(A) aligarchy
(B) manarchy
(C) democracy
(D) amarchy

3. One who collects coins as hobby
(A) smtistician
(B) philatelist
(€} omithologist
(D) numismatist ;

q_ ;

Mwﬁuﬁ—lﬂ} In the
following questions, ‘senfences are given with

‘blanks to be filled in with an appropriste

word(s). Four altematives are suggested for
each question. Choosie the Gorrect one.

6. Weshould  upportuniiies a3
they anse.
(A) speeze
(B) seize
(C) size
(D) couse

7. The .studems  arén't  prepared
the examination.

(A) togive
(B) totake
(C) towork
(D). to listen

8, Wedidnn  the programme
to be such a huge success,

(A) - access
{l:ﬂ aooept
(C) except
(1) expect

9.  The Govemment, in 3 bid to make Bihar

a preferred investment destination, has.
_ major schemes to creale

infrastructare at different stages,
(A) opened
(B) launched
(C) opposed
(D)} pushed

10. Tsuffer fromio about by
(A) hallucinations
(B} .imﬁ;inatinns:-
(C) illusions
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Directions (Question Nox. 11 — 15): In the
following questions, out of the four-altematives
chioose the oue which besi expresses (he
mesming of the given word as the answer.

11, Diligent

(A) - great (B) hard working
(C) canceited (D) proud
12. meunrt}' ! Crllis gl
(A} prospect (B) affinity
(L) rapport (D} neamess
13. Garrulous
(A) friendly (B) tmlkntive
(C) important. (@) grumpy,
14. Zenith s,
(A) pinnacle  (B) reality
(C) ideal (D) hope
15. Fallacy

(A) mistaken betief
(B} unfounded fear
(C) ﬁmm&mvmnun
(D) mﬂﬂm el s

Directions (Question' Nos, 16 = 2!}: In the
following questions, four alternatives are given
for the jdiom/phrase written in bold. Choose
the allerpative which best expresses. the

meaning of the idiom/phrase.

16. The secrefary had the information at her
fingertips.
(A) not accessible
(B) in the compact disc
(C) onatypewriter
(D) rdadﬂy available

17 Eumulmghﬁdﬂuﬁnm the mother said
that there was no use crying over
spilled milk.

(A) complaining about an event that
gannol be changed

(B) tocry having a glass of milk

(C) 1oslipand spill milk

(D) Wl‘;’m#a&t:ul the milk 1hat was'
spilled

18. Tatlkeﬂlthullh}rthtllﬂru
(A) to m.ﬁmn:rus!ungdl:fmt upon the
‘enemy |
(B) to face danger :
(C) to restrain anger |
(DN to check rumours from spreading

19. She keeps blowing hot and cold and
therefore, nobody can befriend her for
long
(A) bmnggm&audhmiﬂtm:ﬂy
(B) being unfriendly and critical
(€) being friendly at one moment and

unfriendly at next
(D) rying to cool the situation down
- and.then raking it up again

20. I spite of his recent financial troubles,
Ashok has not learnt to cut his coat
according to his cloth.

(A) wear modest cloths

(B) 10 improve his tailoring abilities

{€) livie within his income

{D) overcome his problems
Directions (Question Nos, 21 — 25): In the

following questions, there are four different
words out of which 'one is misspelt. Find the

mmnptllmduﬂwqu
2L (A) reritoreal (R) pharmacy
(C) rapture (D) remainder
22. (A) cartilage {B) marriage
(C) privilage (D) carriage
23. (A) astocracy.  (B) hypoorisy
(C) democmcy (D) idiosyncracy
24. (A) laborstory  (B) dispensery
AC) foundry (D) observirtory
25. (A) pauge (B) gauze
(C) gaudy (D) gnurantee
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%A} Pench %n] Corbett

) Nagarjuna D) Manas

mﬁmchmfﬂmhnﬂgmsmuf

(A} T. Swmumﬂun
Sukumar Sen

({‘i K.V K. Sundgram

(D) S.P.Seavermsa

The mblmr ‘of cow's milk ‘is- shightly
‘ duto presence of :

{ﬁ} Riboflavin (B) Carotene -

{C) Rihulose (D) Xanthophytl
Who among the following altacked the
Shnmath e?

(AY of Gagni'

H% Mohammiad Ghori

EC Ntutmish

(D) Qutubuddin Aibak

Which of the following fugls causes

minimuny environmental pollution 7
(A) Diesel (B) Kerosene

(C) "Hydrogen {D) Coal
Autamated T:lln" Mnchm:
t}mwmg m !ﬁan nru: crop n;m a piece of
15 known as

ATM stands for
Tal liy
T

Automatic Teller Machine
E% utmﬂﬂd'fal
(D) mph

39.

41

412,

47.

50. Bloudﬁrmpwusdum

of the Court hold office’
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. attain the age of 65 yrars
g%ﬁewnr&!yﬁm
Mahatmy Gendhi started  his “Dandi

Mammmi .
(0] Ahmedtabae H et Ashrom
Whi ﬂnijrnummﬂi that can fly ?

A" "

Who gave Lhe title of “Sardar” m‘i.?aihhh

Bhii T
Mahatma Gandhi

A)

% Vinoba Bhave
Cj Women of Bardal

) Peasants of Gujarat
“Yosemite' isa

a River EB} Peak
% Waterfall D) Dam
Theﬁmlndmnsaieﬂm “Aryabhatt” was §

[nuncheéd in
(A) 1972 (B) 1975(C) 1977 (D} 1979
Bhopal Gas Tragedy of 1984 is related 1o
g Mmﬁ“@u
M lzocyanate
Ca?i}ﬁ dipxide
;th: did Anrangzeb die Yo
C‘% Ahmednagar Eg% Mumbm
Who coined the name Pakistan 7
Md. Ali Jinnah
?B% Faziui-%ﬂﬂ
C) Liaquat Ali Khan
(D) Chaudhary Rehmat Ali
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tC} Lara Dutta &]); Sushmita Sen.
Which {s the only country whose postage
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{D) Pakistan
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(A) ¥220
©) 2210

The square root of 33 —4\J35 is
(A) + (T +5
(B) +(\7+25)
{€) + (q"} ~25)

M) +(2T-5)

fal+1 -a;;ﬂtnllju:wlucﬁfnu+a’*+ 1
g
{A) 3
©) 2

(B) 1
(D) 3

Ina AABC FA: 7B AC=2:3:4 A
line dmwn parallel to AB. then the
ZACD s,

(A) 407
(© 80

(B) 60°
(D) 20°

A can do a piece of work in 12 days
while B slone can do it in 15 days. With
the help of C they can finish the wark in

S days. If they are puid ¥ 960 for the
whotle wark, how much money A geéts 7

(A) T480 (B) %240
(©) T30 (1) T 400

Thnmbmﬂlmammmot'mcy
ufﬂandthcl:rurﬂmmlmﬂ!tmm
sum for the game time and at the same
rate is ¥ 20. Fil'l:llhesum.

(B) 200
(D) T212

If xyix + vy} = |, then the valuc of
l.’{ﬁf]-r:] 34315
A3
€)1

@) -3
(D) -1

61.

Maximum value of (2 sin 8 + 3 cos @) is
(A) 2 (B) /13
() V15 (D) 1

The least number which must be added
to 1728 to make it a perfect square is

(A) 36 (B) 32
(C) 38 (D) 30
If goods hcpurnlm.ﬁd for T 450 and one

third sold at a loss of 109%. At what gain

percentage should the remainder be sold

0 as to gain 20% on the whole
transaction 7
(A) 32%
(C) 28%

(B) 35%
(D) 30%

If owt of 10 saflnctﬁd sfudents for an
mmmﬂmlwmuf!ﬂymmd
of 21 4nd 3 of 22 years, the average age
of the group is
(A) 22 years

{C} 21.5 years

(B) 21 years
(D)) 20 vears

Area of the floor of a cubical room is
48 m?. The length of the longest rod that
canbe kept in that room is

(A) 9m (B) 12m

(€©) 18m (D) 6m

What will come in the place of question

mark (7) in the series ?
3, 8,27, 112.(2), 3396

(A) 565 (B) 680
(€) 1260 (D) 320

For & triangle circumcenire on, ane of its
gides. The triangle is

(A) Rightangled

(B) Obtuse angled

|




64. [fa=4011 and b= 31989, then value of 0. Two successive discounts of 10% and
ab="7 5%, in this order, are given on a bill of
’ e 110, Find the pet amount of money
R . i i payable to clear the bill.
{C) 15989979 (D) 15998879 (A) 704 (B) 795
(C) 296 (D} T97
65. The compound interest on & certain sum
of money &t A certain rate per-anpum for
2 years is ¥ 2,050 and the simple intcrest M. A geometrical figure has a1 Jeast four
mlhcﬂmulmnuntﬂfnﬁmﬂyﬂﬂl‘: lines and the oppaosite lines are pamilel
same: rate for 3 years is T 3,000, The sum mﬂchmhn*mddﬁnppnmlcnnglesm
of money 15 cqu!.Wha‘t is that geometrical figure ?
(A) T20000 (B) ¥ 18,000 (A} Equilateral triangle
(€) ¥21,000 (D) ¥ 25400 (B) Parallelogram
: (C) Trmpezium
66. ‘The value of foos%60° + dsecage — (D) Hexagon
tan’45°} / {sin? 30° + cos? 30°) is
() 6443 (B) 3sn2 T2 Thevahuo of 53+ 13 x 3 10+~ i
(C) 67/12 @) 6710 : 1-3
67.  From a point P on the ground the angle \EE 0% i
; a point P en .
ﬂfﬂiﬂﬂ?ﬂﬂ of the top of a 10 m tall (© 128/ (D) 128/99
building is- 30°. A flag is haisted ar the ]
Eygﬂnﬂ:f xli:ifﬁ n[:Luﬁﬁ.nf 73. Find twu mean pmpummnl bumrnn 2
P is 45° Find the length of the flagstaff a8
- (Taker3 =1.732) (A) 6and 18 (B) &ind 12
(A) 10(45+'2]m {C} 12and 18 (D) 6and 9
(B) lqﬁ*”:m
T4, Alapﬁnmalnmcufmdmppm
©) 1043m second. 600 drops make 100 ml. The
(D) 732m number of litres wasted in 300 days is
(A) 4320000 {B) 432000
68. A speodof 45 km/br is the satne as (€) 43200 (D) 4320
(A)y 125 mfs (B) 13m/s ;
(€) 15mis (D) 12m/s 75. A plaic was sold for € 6,300 after giving
two successive discounts of E%% and
69. The value of LO(I +13-4-8)/5 1%, Find the marked price.
(A) 25 (B). 1.5 (A) T 7300 (B) 7,700
(€ 22 ® 4 (C) T 8,000 (D) 7,250
A 0 mat .
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PROPOSED ANSWER FOR SCREENING TEST HELD ON 21-08-2016

1 A 51 i D
2 D 52 D
3 c 53 B
4 A 54 D
5 D 55 A
& B 56 A
7 c 57 N
B D 58 A
g B 59 B
10 c B0 B
11 B 61 B
12 D 62 A
13 B 63 A
14 A 64 A
15 A 65 A
16 D | 56 8
17 A | 67 0
18 & | 68 A
18 c §9 D
20 c | 70 A
21 A | 71 B
22 c | 72 A
23 D 73 A
24 B 74 D
25 D 75 c
26 A 76 c
27 A 7 B
@ ¢ 78 A
29 D 79 c
30 D 80 A
3 c 81 c
32 B 82 B
33 B 83 B
34 A 84 [
35 C 85 D
36 A 86 D
A7 B 87 B
18 c 88 B
39 ) D 89 c
40 c 90 A
41 A 91 [5
42 ¢ 92 c
43 B 93 B
44 i c 94 c
45 c 95 D
46 D 9% D
47 D o7 c
48 B o8 B
49 A 89 A
50 e 100 B
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